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ENGLISH VERSION

Que.1 Discuss importance of Financial Management & Explain Finance
Function in detail. {20]
OR
Oue.1 Raj Company Lid. Is considering investing in a project requiring a capital
of Rs. 2,00,000. Forecast for annual income after depreciation but before
tax is as follows: [20]

YEAR! Rs. |YEAR| Rs.
1 40,000 6 50,000
2 130000f 7 130,000
3 140,000 8 145,000
4 [35000] 9 140,000
5 110,000, 10 30,000
Depreciation is to be a taken on original cost and taxation at 50% of net profit.
You are required to evaluate the project according to each of the following methods.
1) Pay-back-method.
2) Net Present value at 10% discount factor.
3) Profitability index at 10% discount factor.
4) Average rate of return
5) Internal rate of return at 10% discount factor and at 15 %rdiseount factor.
Table
Year 1 2 3 4 5 8 7 8 9 10
Present value
Rs.1at 10% 0.90910.826 1 0.751 1 0.687 | 0.621Y 0.564 {0.513|0.467 | 0.424 | 0.386
discount
Rs.1 at 15%
discount

0.8700.756 | 0.658 | 0,5¥240.497 | 0.432 | 0.376|0.327 | 0.284 | 0.247

Que.2 (A) Following details relate tehe*swapnalok Ltd. For the year ended on 31%
March 2016. [15]

Source Book Value | Market Price
Equity share capital Rs.8,00,000 Rs.20 per share
(each of Rs.10)
10% Pref. share capital | Rs.2,00,000 |Rs.75 per share

(each of Rs.100)
14% Debentures Rs.10,00,000 |Rs. 80 per
(each of Rs.100) debenture

Total | Rs.20.00,000
_The expected equity dividend in_the next ve

ected equity dividend. ar_is 20%. which will grow at.8%. Tax-
bracket-of-the-company-is-40%. : : TR e

Answer the foilowing :

1) Calculate the weight average cost of capital under the market vaiue weight and
Book value weight.

2) The company is planning to finance an expansion project costing Rs.5,40,000,
through an issue of equity shares at Rs.18 per share. Calculate the marginal cost of
capital.
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Gue.2 (B) Discuss Marginal Cost of capital. [05]
OR
Que.2 (A) A company has a capital structure of 6,000 equity shares of Rs.100 each.

The company now wishes to raise additional Rs.6,00,000 for expansion. The company
has four alternative financial plans. [10]

A) If can issue 6,000 new Equity Share of Rs.100 each.
B) It can raise 50% as equity Shares and 50% as 8% Debentures of Rs. 100 each.
C) It can raise the entire amount as 8% Debenture.

D) I can raise as 3,000 Equity Shares at Rs.100 each and 10% 3,000 Preference
Shares at Rs.100 each.

If the company's profit before interest and taxes (EBIT) are Rs.90,000 and tax rate is
50%, then which alternative is acceptable to maximize earning per share?

OR
Que.2 (B) Write a Short notes: [10]
1) Earnings per shares
2) Combined Leverage
Que.3 Explain factors affecting Cap. Structure [20]
OR
Que.3 Explain advantages and disadvantages of stable and irregular dividend
policies. {20]
Que.4 Write a detail note on gigRagement of working capital. [20]
OR
Que.4 Explain in detail: [20]

1) Measures of Working capital.
2) Sources of Working capital

Que.5 Discuss various techniques of inventory control in detail. [20]
OR
Que.5(A)-Write a-note-on management of cash. | o

Que.5(B) Explain difference in between strict credit policy and liberal credit policy.[10]
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